


K.C.S.E 1995 MATHEMATICS PAPER 121/2 MARKING SCHEME

SOLUTION MARKS ALTERNATIVE METHOD
l.xlogx Apply Mt - 2 if a candidate was
' square root
(0. 72847 2.8623x2 =3.7246 ml Alltwo logs
3J0.06/195 2.7921+34 = 1.5974 Ml Multiplication & division of his
= 21272 ‘
ml Subtraction of logs
S 0x=0.01341 Al Alternative
4 marks Accept standard form
2.y=2x-3 ml Equation in one unknown
x? -x(2x-3)=-4 ml Corect simplification and equation|
()= ml Fcatorization of this equation
= x=-lorx=4
andy=-5ory=>5 Al Substitution in the formula
3. (65 + 50 +50) : 3 ml
(50 + 50+45) :3, (50+45+45) : 3
(45 +45+453:3, (45 +45 + 40) and mli
(45+40+40)%=3
moving av 55,48, 47, 45,43, 42 Al
3 marks
4. x- section area=1x 3 x 3 Sin 60°
o]
1x3x3x0.8660 mi or 45 (45 - 3)(45 -3)(45-3)
2 : 3.875x25
Volume =1 x 3x3x 0.866x 0.25 ml
2
=07.43(97.425) Al
3 marks
5.7 0x b4 P2x =350 mi 49x 1 +49x =350
49 x 7+ 7> =350 49 x 49 x +49x =350
50x 7% =350 ml 50 x 49x =350
= 49x =7
=2x=1 mi 49x =49/,
%= Al )
4 marks if logs used follow through
6(") =_(' D(;)'—'('z) B1 1 Allow for sketch of the translation
y 0 vector
I -I-257-1
(O
o=ty )=(-1,-3) Bl Do not accept final answer in
2 marks sector form
TRSE =35 =27.125 mil
Vol of larger tank = 8.1 x iy mi i
: ; 27
; 37.5m Al
{ g =121 - 2 marks ‘Revision K.C.S.E Maths 1993-2005







SOLUTION MARKS ALTERNATIVE METHOD
8. 3% -1 (2x+ D (x-1) mi Correct expression under one
x*—1 ml denominator
=x*+x
X=-1
=x(x+1) = X Al
x-DE+1) x-1 3 marks
9.Sin8+9=0.333 ml Cosx - 0.333
27 = =70°32 (70.53°)
>8=19°28 (19.47%) ml 180 - 70° 32
=190 28° + 90
= 109° 281 (109.47°) Al
3 marks
10 ar=16.ar*=2
ar = z_%r-: =4
ar 16 8 ml orl6 r'=2
=r=1/2 Al T
anda=32 Al Cao
3 marks
1] <PCDB = 40° or <DCQ = 40° or <BCD =140° | Bl Allow B1B1 for <PCQ=140°
. <BAD=40° Bl = <BAD = 40°
2 marks
12.BA=31+4j -81-D”=31+5j m} orequivalent
BA=a-ab
CA=3(-51+5)"-31+3j ) ml CA +3fa-b)
S 5
DC =2(-81+j)=161+2}) ml DA--2b+3a-3b
DA =2 (Biw )+ (Bitds) 5 5
= -191+5j Al BA=a-b
4 marks CA=3(a-b)y=3a-3b
i 5 3
DC=-2b
DA=-2b+2a-3b ml
5 S
=12b+3a ml
5 5
= 12.81-j)= 1261+ 4) ml
5 5
, =-191+ 5 Al
13, Log (x*x 3x)=log(2*+2) ml 3logx xlog 5x =3 log2 log2
2 4io¢ 5 mi
X'xS5x=(2:2) e Alcy o= biog 2 mi
5 Pox=3 mi
5x¢-80xt=16 Pl
| X =L “m‘ :
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SOLUTION

MARKS ALTERNATIVE METHOD

14.4x22xr°=22x 11*%50 mi Substitutions and equating
37 7
£=121x50%3
4
r=3/4537.5 =16.56 Al
2 mar
15. 500 = 16a=bj6 = 500 = 16a + 4b Bl
800 =25a+b,25 800 =25a + 5b B1
2500 - 80a + 20b
3200 - 100a + 20b ml Attempt to eliminate one varido
700 =20a from variation
=a=35and b=-15 Al Must come from correct variations
= p=35L-15L Bl Given if A0 lost but m1 must be
5 marks correct.
16. Area=2(8 + 6.5+ +56+6+6.4+47) | ml At least 4 reading within 10.1
=2(8+6.5+56+6+64+4T)x25 ml For conversion to Km?2 or km to
=2 x37.2 x 25 x 100 or equivalent hectares
= 186000 ha Al
4 marks
17. a) Area of path = 2_2_2_(_.493 - 22;_'352 mlAl
7 7
= 3696m*
Area of slab =
_22x352-4x4x3=3850-48= 3802Zm°
7
Total cost = 3696 x 300 + 3850 x 400 ml @
= 2629600
Amount not spent 20 x 115 x 2629600 ml
100 100
= 604808 Al
b) Actual expenditure
=80 x 115 x 2629100 = 2419232 Bl cao must not loose any of A
100 100 8 marks above
18. 1 UCL, 1951 393 3935 79.5 199.5 1 1195 139.51159.5 {179.5
cf 9 28 50 68 8 92 97 199 100
a) Cumulative frequency Bl For cf all
Linear scale Si Must accommodate all date
Plotting Pi
Smoothing & complete of CF curve Cl1
1 by (iy Upperquartite =90 s "Bl Reading within 154
Lower quartile =36 Bl
Range = 90 - 36 = 54 Bl Must identify both quarterly
{ii) No. of days = 100 - 93 =7 B1 Reading within 1 sq mus be a CT curve
8§ marks
| 19. P (hoth alive)=0.7x 0.9 = 063 1 mlAI_L N
P (neither ative } = 0.3 x 0.1 = 0.03 mi Al
+ {one alive) = 0.7x 0.1 +3.9x0.3=034 m! Al
P{at least one alive) = 0.7 x 0.140.9x0.3+0.7x6.9 | m! or equivalent 1-0 08=0.97
=0.7x0.10.9x03+0.7x0.9 ml can be 1 p (neither
. =007+0.27H0.53 13- Al T . '
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SOLUTION WARKS |[ALTERNATIVE METHOD
20.{a) BB'= 800.Sin 30°
=800x0.5 ml
=400 Al
(by () AD = 800 = 800
Cos 60 0.5
S AC =__§_AD =3x300
4 4 05
-1200m
(DB = 800% + 1200°- 2 x 800 x 1200 Cos 60° mil
= 8002 + 1200% - 2 x 800 x 1200 x 0.5
= 540000 + 1440000 - 960000 Al
- CB 2\11120000 = 1038
{#HN3IBB=EBL= 3 x 400 =300
4 4
2 Sin 0 =400-300~0.945 ml
1058 Al
=0 =5°25%5.42%) 8 marks
N
21.AABD constructed Bl
AABP constructed Bi
(HAD =45 +0.1 CM Bl
Distance A to D =4.5 x 10 =45km Bi
(ii) Bearing D from B =241 + 1 Bl
(iii) Bearing P from D = 123 2 Bl
(iv)DP=129+02CM B1
Distance D to P = 12.9 x 10 = 12%m Bi
8 marks {
22. <ABC = 105° or <BAD =75 Bl Construction marks must be seen
complete // gram constructed Bl AB = 10+ 0.1em & BC = 7+ 0.1crp
const. of loct tAP < 6em B! Must be drawn inside his/gram
Area // gram =7 x 10 Sin 105°
=7x10x0.9659 mi or 10 6.7+ 0.1 (from height
=67.61 e’
Total area of sectors
Tk el 105x22x6°
360 7 360 7
e S







